B H | W BN T F
ST4FE 6 HITHETE 9:05H FHEZ(2-3,4,5,6)
B RS M | 1T &
EE ®OW T G I AL R B B RS (FE R 2)
ERRIR (~2 H) 18+
1 7K
RV R A R ERBR
19 H [EE5HRE(—BE%)
2 OK|13:40tEBHEZ (1-5,6) T &
O ELA DS 1 5kEE
%1 RS RGERE — IR 20 H
3 &
BRE B U — 7 0 B oK (B 2E) 21k
4 +
OO K HEH S
22 K
5 H
¢ 1 HIREA
©F 23 K
6 A
HFT A M@ 24 &
70K
25 +
8 K
P E R EERE
13:40NFH 2 (2-4, 5, 6) 26 H
9 K
9:05 M2 (1-1, 2, 3, 4) 27 H
10 & | O~@EHZWT A b (34F)
28 kK
11 + v
9:05p BHe72(3-3,4,5,6)
H pa {E 50 E 29 K
12 H
QURR A
O BELEHE 30 K |13:40NEHRZ(3-4,5,6)
13 H
14 :k
WHT 2 O
15 7/
13:40NEHRZ (3-1, 2, 3)
16 K




